Rational or Irrational?

Shade in the irrational numbers to find your path from the first row to the last row.

g 0.25 | V56 | V36 0.6 -3 V225 | -04 V8 | V196

5 g V15 | 2V49 | 50% | —2; | 3m |0.576.. 0.378..| -45%
3v/36 0 7 [0.123..| V65 [0.284..| +/21 | 1 | 3V75 | -78
0+-4| 327 | 637 | 8 NG) % 85 3 | 6/15 | V2
V16 | m+4 | V95 | /63 |0.245..| 5 | 37% | 81 % 0.702
-5+210.731...| 0.8 |2+/36| 0.245 | /48 | m° |0.598..| /35 |+/100
75% | V10 | 3-m | Vo9 | 364 % V121 | -3; g -45%
V400 | 1-06 | 7 Jo |0967..| V31 | /80 | 6+ | va9 | 3125
(-23)5 g 56 +8 | V169 5% 56% | -5 | 4w | V37 | 0.35
689 | 4+-3 | 5-2 | -69 2 2716 | 23% | 0.142 |0.142..| 64




Rational or Irrational?

Shade in the irrational numbers to find your path from the first row to the last row.

ANSWER KEY
g 0.25 | /56 | V36 0.6 3 | +225| -04 V8 | V196
5% g V15 | 24/49 | 50% —23 3m |0.576...|0.378... | -45%
3v36 | O m |0.123..| V65 |0.284..| +21 | V1 | 3V75 | -78
0+-4| 327 | 6.37 8; NG % 85 3 | 6/15 | V2
V16 | m+4 | Vo5 | /63 |0.245..| 5 | 37% | /81 % 0.702
-5+210.731..| 0.8 |2+/36| 0.245 | /48 | @ |0.598..| /35 | /100
75% | V10 | 3-7 | V99 | ¥ea % V121 | -3; g -45%
V400 | 1-06 | 7° Vo 10.967..| /31 | /80 | 6+ | 49 |3/125
(-23)8 g 56+8 | V169 | 5. | 56% | m-5 | VAm | 37 | 035
6.89 | 4+-3 | 5--2 | -69 1% 216 | 23% | 0.142 |0.142..| V64




